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Question 19. (PP1)

N

Gamma Limited has 5,00,000,% 1 ordinary shares whose current ex-dividend market price is %

1.50 per share. The company has just paid a dividend of 27 paise per share, and dividends are

expected to continue at this level for some time. If the company has no debt capital, COMPUTE

the weighted average cost of capital?

1007 equsty €Ernanced.
whee,

Because company 13
Co5t+ OF RQuwrty

-

ke =PI xyp0 P1 = Expecred Dryrdend
o Po = current mMpPs
. °;Q7 X100
= '9'/.




A TRP sir

CA Rahul Panchal

| Question 20. (PP2)
The following details are provided by the GPS Limited:

)
Equity Share Capital 65,00,000
12% Preference Share Capital 12,00,000
15% Redeemable Debentures ~20,00,000
10% Convertible Debentures 8,00,000

| The cost of equity capital for the company is 16.30% and income tax rate for the company is
I 30%.
| You are required to CALCULATE the Weighted Average Cost of Capital (WACC) of the company.

1. CO3t oF Debenrure: Interest % (I-t)
Redeermoble: 165 (1-0:3) = 16.Sv.
Conyertrbre: 106 (1-0%) =~ vy,

| Q. LOACC:

ParHtuiars _Caprra) Rarts CO34(Ys) w ACC
Eéc 6500000 0619 16.30 10,09
Rz Psc 100,000 0.1y 12 1637
167. RD AG00000 0.190 104 § 2
167. CD 800000 0.076 7 6+53

10600,006 | 13.99
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Question 1. (Illustration 1)

Five years ago, Sona Limited issued 12 per cent irredeemable debentures at ¥ 103, at¥ 3 premium
to their par value of ¥ 100. The current market price of these debentures is ¥ 94. If the company
pays corporate tax at a rate of 35 per cent CALCULATE its current cost of debenture capital?

Inkeresdt+ (I-tax row)

Kg = K100

Ne)y Proceed s

. Uoox!1¥%) (1-0-35) X106

34

VR

) S— T 0Ye)
%Y
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A company issued 10,000, 10

N

Question 2. (Illustration 2)

A company issued 10,000, 10% debentures of ¥ 100 each at a premium of 10% on 1.4.2023 to

be matured on 1.4.2028. The debentures will be redeemed on maturity. COMPUTE the cost of

debentures assuming 35% as tax rate.

. 10(1-0.36) - _I00-110

X100

100+110
2
o 60 5 "'2 K'OO
106
= 4.297%

Rv =100

. n= Sqeots. X
NP = I0OH+IOYe =110
1 =210
t= 0.36
Kd - X100
RVENP
K]
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Question 3. (Illustration 3)

A company issued 10,000, 10% debentures of ¥ 100 each at par on 1.4.2018to be matured on

1.4.2028. The company wants to know the cost of its existing debt on 1.4.2023when the market

price of the debentures is ¥ 80. COMPUTE the cost of existing debentures assuming 35% tax rate.

g 2 1-4-23 0 = 5yeors RR
NP =80 Rv=100
l=10
t=0.35

n
Ka - X100
RV+NP
2
10 (1~0-35) + '100-80
Kg = 5 X100
100+€0
Q
. bB+9 X106
90
= ”067'/.
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( XYZ & Co. issues 2,000 10% |

Question 6. (Illustration 6)

XYZ & Co. issues 2,000 10% preference shares of ¥ 100 each at ¥ 95 each. CALCULATE the cost of
preference shares.

kp = Preference Dividend ..
Ner Pro ceeds
. 100 X 107. X106
95

'0" ‘53 ./.

"

If R Energy is issuing preferred stock

Question 7. (Illustration 7)
If R Energy is issuing preferred stock at 100 per share, with a stated dividend of 312, and a
floatation cost of 3% then, CALCULATE the cost of preference share?

(64 OF Preperence Shore:
Preference Dryvrdend

= KtoOo
Net+ ProCeeds
= 'Q— X160
’OO’BVO
> ’Q'B?ﬁa

XYZ Ltd. issues 2,000 10% preference
Question 8. (Illustration 8)
XYZ Ltd. issues 2,000 10% preference shares of ¥ 100 each at % 95 each. The company proposes
to redeem the preference shares at the end of 10 th year from the date of issue. CALCULATE the
cost of preference share?

o n-‘-’o L 4
NPp= 95 RY = 100
PD=10
PD +<RV"NP> 10 + <’OO“95
n 10
Kp = X100 Kp = X 106
RY+NP 100+96
2 4y
Kp = 1% v 106
976
\ = '6‘77‘/0 )
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( A company has paid dividend\

Question 9. (Illustration 9)
A company has paid dividend of ¥ 1 per share (of face value of ¥ 10 each) last year and it is
expected to grow @ 10% every year. CALCULATE the cost of equity if the market price of share is

¥ 55,

Cost OF EQuIty: ) .
Ke = D’ moo>+ 9 Doz ! r107. Dz ol
Po +107. P, s 606

{("MO/) Yloo} + 10 G 16

6.6
= 1Y EN

= 3\./0

Question 13. (Illustration 13) Face value of equity shares of

Face value of equity shares of a company is 310, while current market price is Y200 per share.

Company is going to start a new project, and is planning to finance it partially by new issue and
partially by retained earnings. You are required to CALCULATE cost of equity shares as well as

cost of retained earnings if issue price will be 190 per share and floatation cost will beZ5 per
share. Dividend at the end of first year is expected to be ¥10 and growth rate will be 5%.

(ot OF EqUUty : tost of Rerorneg Forning
)] ]
k=<—xvoo>+ Koy [—— roc>+
e PoFe 9 v » ¥ 9
10 10
> X106 > + S 2 < > + 5
(190-6 YOO
2 ,o.l.”‘/. = 10%
ABC Company provides

Question 14. (Illustration 14)

ABC Company provides the following details:

D, = 3 4.19 P,=%50 g=5%
CALCULATE the cost of retained earnings.

Kv = {—rvoo + 9

X1 } )
5o o0 1+

13. 8.

=g(wg + 5%)
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Cost of equity of a company is 10.41%
Question 16. (Illustration 16)
Cost of equity of a company is 10.41% while cost of retained earnings is 10%. There are 50,000
equity shares of ¥10 each and retained earnings of ¥15,00,000. Market price per equity share is
%50. Calculate WACC using market value weights if there are no other sources of finance.
werghted Average COst oF (apftal:
Boox Mo rked (Ratro)
Portrcurors  _vame  _value _werghts (054 (%) WwAce
Esc 800000 648000 0.5 10.Y) 606
Retarned Eormng 1600000 1873008 0.75 16 e
" 200000 306006 [ 104 |
( Saocox 50)
Ratroof
3cok value
- J
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33m0m . CALCULATE the WACC using

Question 17. (Illustration 17)
| CALCULATE the WACC using the following data by using:
(a) Book value weights
| (b)  Market value weights

| The capital structure of the company is as under:

Year )]
Debentures (X 100 per debenture) 5,00,000 ||
Preference shares (Z 100 per share) 5,00,000 | |
Equity shares (X 10 per share) 10,00,000
20,00,000

- The market prices of these securities are:

| Debentures % 105 per debenture
| Preference shares % 110 per preference share
Equity shares % 24 per equity share

| Additional information:
(1) ¥ 100 per debenture redeemable at par, 10% coupon rate, 4% floatation costs, 10-year |

, maturity. ,
(2) %100 per preference share redeemable at par, 5% coupon rate, 2% floatation cost and 10-

year maturity.
| (3)  Equity shares has X 4 floatation cost and market price of ¥ 24 per share.

I The next year expected dividend is ¥ 1 with annual growth of 5%. The firm has practice of paying |
| all earnings in the form of dividend.

Corporate tax rate is 30%.Use YTM method to calculate cost of debentures and preference shares.

[N~ @ Cost Oof Debenture: (CKg) CYrm)

. N= 10 .
NP: 106-9% = 1008 RY: 100
L 100¥%I10x = 10
t: 0030

T CI-8) - 10 (1-0.3)=%

. _Year _Casb HOovy PYFOBH Y, Py PYE® Y Py

1~10 7 V4722 §4.05 7.0y Yyaay
10 100 0.614 61.4¢6 0.508 5G. &6
115.Y5 99.97
NoF Proceeds: (100-20) (1006.80)
14,65 ( 0:83)
IRR~ 64 1965 x (7-5) = 6:39
14.68+0.93
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L WNR). Cost OF Preference Shares:  (YTm)
. N=10 )
NP: 110~2Ye = 10768 RY: 100
PO 100X D= H
- Year _Casb AoV PYF® 3/, Py PYE®K /e Py
1~10 5 0530 466 T2 3861
10 100 0.744 T4.90 0.614 6140
11706 10001
N+ Proceeds (107 %) (107.8)
(RR> 34 335 x(5-3) . 4.097%
Q.S +7.79
(wN-2>- Cosf OF EQuUty -
D1
= 21 x10
Ke { s X 0} + 9
e{ ! xtoo]] + 5
QY-y4
> ’O’/c
4. WACC (Book ‘earue):
| Book
- Partrcarors __\alue_ weaht Cost (%) L ACC
 Pebenture 600,000 OR6 6.29 e 2
EsC 1600000 0.50 16 5
20,00.000 t YSIEA
L J_WAcC (MOrKes \carue) -
| maotkes
- dar+canors __Vaiue weght Cost (%) (WACC
- Debentore (oo x 106 ) BIBOOO 0.!6] 6+29 104
Psc (foco x110) 880,000 0.1858 4.09 0.65
EsC (160000 x X4) 400000 0.691 10 6.9
3475000 I 867,
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_CALCULATE the cost of equity capital

Question 12. (Illustration 12)

CALCULATE the cost of equity capital of H Ltd., whose risk-free rate of return equals 10%. The
firm’s beta equals 1.75 and the return on the market portfolio equals to 15%.

Cosr oF EQUUITY -
Ke = Rg + B CRm-Re)
. 10 + 1.75 (18~10)
= 0+ &.75
= 18.75 %,

Question 15. (Illustration 15)
ABC Company provides the following details:

R, = 7% 8 =1.20 R_-R =6%

CALCULATE the cost of retained earnings based on CAPM method.

Cost OF EQUUHY:
Ky = Re + 8 (Rm-RF)
T + 1eA X§6
T+ %R
14 Ve

»

"

»
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Institutional Development Bank (IDB)\

-

Question 4. (Illustration 4)

Institutional Development Bank (IDB) issued Zero interest deep discount bonds of face value of

%1,00,000 each issued at 32,500 & repayable after 25 years. COMPUTE the cost of debt if there
is no corporate tax.

. S9eare ,
9S00 100,000
Yeat Cash Flow PNF@®!6y PV PVFE®Ioz. PV
¢S 100,006 0.030 3000 0Oy 400
(200 (Q00)
KOO (100)
IRR = 165+ S0 % (16-16)
§C6 +100
= |fF + 0:83
= 1683
2 100000 (Fy) 1276 -
WS0O (PVY) 1o
N\
1R+rmed
~|
x|
+qd¢ (Yeors) [y
+ 1/

X 2 1QHmes

~I

X106
15 Q07 /.
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(38 Min) 15% convertible debentures of * 100 each

| Question 25. (PP7)

| A company issues:

e 15% convertible debentures of ¥ 100 each at par with a maturity period of 6 years. On |
maturity, each debenture will be converted into 2 equity shares of the company. The risk-
free rate of return is 10%, market risk premium is 18% and beta of the company is 1.25.
The company has paid dividend of ¥ 12.76 per share. Five years ago, it paid dividend of ¥ |
10 per share. Flotation cost is 5% of issue amount.

. 5% preference shares of ¥ 100 each at premium of 10%. These shares are redeemable after '
10 years at par. Flotation cost is 6% of issue amount. '
I Assuming corporate tax rate is 40%.

| (i)  CALCULATE the cost of convertible debentures using the approximation method.

(i)  Use YTM method to CALCULATE cost of preference shares.
| Year 1 2 3 4 5 6 7 8 9 10
PVIF 0.03, 0.971]| 0.943| 0.915( 0.888| 0.863| 0.837[ 0.813| 0.789| 0.766( 0.744] |
PVIF o.05,t 0.952| 0.907| 0.864] 0.823| 0.784| 0.746| 0.711| 0.677| 0.645| 0.614
PVIFA 0.03,t 0.971) 1913 2.829| 3.717| 4.580| 5.417| 6.230| 7.020| 7.786| 8.530
PVIFA ¢.05,t 0.952| 1.859| 2.723| 3.546| 4.329| 5.076] 5.786| 6.463| 7.108| 7.722

Interest rate 1% 2% 3% 4% 5% 6% 7% 8% 9%
FVIF; < 1.051| 1.104| 1.159] 1.217] 1.276| 1.338( 1.403| 1.469| 1.539
FVIF ;6 1.062| 1.126| 1.194| 1.265] 1.340| 1.419] 1.501| 1.587| 1.677
FVIF i, 7 1.072| 1.149| 1.230] 1.316| 1.407| 1.504| 1.606| 1.714| 1.828

| 4. Cost OoF Coonverti'ble Debenture:

. P Re fFer(@)
e - ¢ gt
NP=100-5% 295 RV=130.5¢
1= I00XI6Y, =18 1 debenfure 3 2 ES
te Ol

0) (03t of EQuuty CCAPM) :
Ke = Rg + B (Rm-RF)
= 10 + 18018

s 336y

:wm
16 (14g)2 = 12,76

10

+9)d = 1276
Growth = 59,
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P, . P2
6 1006
Ke -
176 e 7
a Qs Cr+ /o) K100
%Q-B‘S
. le
12,76 X1e 467 <16
LG
= 65,28
Q) Redeeroption Ydlue:
0Seod8 X 2 Shares =~ 130.66 .
@) Cosk oF Debenture:
I¢l-t) + _RV-NP
n
Kd = X 100
RV + NP
Q
I (1~0.4) + 130.66-95
6
Ko = X100
136.56 + 95
Q
> 9+5-93 160
11T &
- 1334 <,
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| Q. Co3+ of Preference $hores:

) N=10 .
NP:(100+187.) - 67, = 163, RY 100
PO: 100X BY, =

Mear Cosh fowy PNE®SY Py

PNE®GS Py
- I-10 ) R.B30 43.65 7»72:{ 3881
16 100 OTYY YATIRY 061y Gls Yo
117.06 10061
(103.4) (103.%)
1365 (2.39)
tRR= 3+ 13:65 % (5-3)
13.6 S + 3.39
= 3 4+ L6
= 4.60%
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. (43 mip)

Question 23. (PP5)

N
DETERMINE the cost of capital of

DETERMINE the cost of capital of Best Luck Limited using the book value (BV) and market value

(MV) weights from the following information:

| Sources Book Value Market |
) Value )
Equity shares 1,20,00,000| 2,00,00,000
Retained earnings 30,00,000 #
Preference shares 36,00,000 33,75,000
Debentures 9,00,000 10,40,000

Additional information:

I Equity: Equity shares are quoted at X130 per share and a new issue priced at ¥125 per share
will be fully subscribed; flotation costs will be ¥ 5 per share.

II.  Dividend: During the previous 5 years, dividends have steadily increased from ¥ 10.60 to %
14.19 per share. Dividend at the end of the current year is expected to be ¥ 15 per share.

Ill.  Preference shares: 15% Preference shares with face value of ¥ 100 would realise¥105 per
share.

IV. Debentures: The company proposes to issue 11-year 15% debentures but the yield on
debentures of similar maturity and risk class is 16%; flotation cost is 2%.

V.  Tax: Corporate tax rate is 35%.lgnore dividend tax.

Floatation cost would be calculated on face value.

(WN-D: Cost+ OF EQUUIY:

0) Grow+h: Fy = 14.19
PV = 10.60
TIme = & yeors
GrowHt = 6%
D Ke = < D >
Po—Fe X100 )+ 9
15
s [ —=2— X1/ +6
< 1s-6 ° >
= ‘906'/'.
QDN : I rNi

15
= x 100 G
< > * 113 .: MP3
= &% ICA1 T8 Confused L PP& : [33ued PR . )
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L(onN-3) . Cost OF Preference Shores:
RP - Preference Drordend
Net Proceeds
100 XK18%

= X100
108

= ,{JtQQ‘/o

X100

-4 : Cosk 0F Debenture:
N= 11

& TRP Sir

NP : 933¢-(100¥_Y) = 91,76 RY - 100

L:100XIS2 =216

t: 035
9 & extra

COMPAN Y othet )

1657 0eb . 167 Deb. COMPAN Y
Interest: 16 16 87 0eb .
Rs3ue- ¢ ><I55()e: 100 Interest: @

Q3.76 Ts3ue- ¢
S6

R
othetr

167 Deb.
>

Is3ue: 100

A debentoe x =16 |

n
RV + NP
2

15C1-0.396) + <roo-gr.'r§>
(]

2 (1-t) +<R\(*NP
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1. wacc (Book Yaluesd):
Book
Port1'cutors _Vawue  werghts = Codt (%) W ACC
Esc 10,00,000 0.615 19. 86 .38
RE 30,0000 (.15 ' 79
p3c 36,00000 0185 149 69
Debenture 900,000 0.046 10.95 0.50
19800000 ! 179 Y.
. WwAcCc ( MOoHwF Calue):
| Book morces
_Portircuiors valiue  ‘alue werghts  Codt (Y) w ACC
EsC 1OLO000 216000000  0.668 18.60 1212
RE 30,0000 14000006 046Y '¢ .95
1S0,00000 B0L0L0 X
Psc 33 76000 0.138 49 497
Debenture 1040,000 0.043 10+9% 0-47
%Y 12000 ! 17:6 |
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ABC Company's equity share is quoted )

-

Question 21. (PP3)

ABC Company’s equity share is quoted in the market at 325 per share currently. The company

pays a dividend of % 2 per share and the investor’s market expects a growth rate of 6% per year.

You are required to:

(i)  CALCULATE the company’s cost of equity capital.

(ii)  If the company issues 10% debentures of face value of ¥100 each and realises ¥ 96 per
debenture while the debentures are redeemable after 12 years at a premium of 12%,
CALCULATE cost of debenture using YTM?

Assume Tax Rate to be 50%.

1. Costof EqQUIty:

Ke = <ﬂ KIOO\‘!‘ 9
o

¢<'Mmoo> + 6
S

= 14,48

{. O3+ Of Redeemobhle Debenture:

. n-= fQ -
NP: Q6 RV 100+Ha7 =119
1:100X107 =10
t: S0%
-8 10(1~-0.6)= &
Year Cash FIOVY PYE@®Fr PV PV FBY 7 Py
149 5 9.263 4y327 T.943 39.72
12 " 0.55% 63.38 0-44y 49.73
106.7 ?9.4¢
(96) (96)
10y (@.SS)
[RR> 8§+ 1067 % ( -8)
16.Y +6.55
= A + 10Ql,
26y o,
N J
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Masco Limited wishes to raise additional

| Question 22. (PP4)

' Masco Limited wishes to raise additional finance of ¥ 10 lakhs for meeting its investment plans. |
It has % 2,10,000 in the form of retained earnings available for investment purposes. Further
| details are as following:

(1) |[Debt / Equity mix 37
(2) [Cost of debt: |
UptoR 1,80,000 10% (before tax) ||
Beyond ¥ 1,80,000 16% (before tax) ||
(3) |Earnings per share T 4]
(4) |[Dividend pay out | 50% of earnings
| | (5) |[Expected growth rate of dividend _ 10% ||
(6) | Current market price per share R 44 ||
(7) [Tax rate 50% ||

| You are required to:

' (a) DETERMINE the pattern for raising the additional finance.

(b) DETERMINE the post-tax average cost of additional debt.

| (c) DETERMINE the cost of retained earnings and cost of equity.

(d) COMPUTE the overall weighted average after tax cost of additional finance.

. 0) Pattern For rorsing the addrtronas £rnonce:

ARcadrtrona) frnance:. [0,00,000
L

< 4
(3:7) _

Debt: 300,000 EQwty: 20
10z Deb+ 190,000 gée 490,00¢
6% D bt @f‘g) RE 210,000

300,000 TOS000

- b) Podt Tax Ayerage €03+ OF Debt:
107 Delt : 10 (1-0.6) « B%
167 Debt : 16 (1-0-6) = g«

_Parhtalors  _coprray Rat1o CO(Ye) (ACC
107. Deb+ 186,000 0.60 ) 3
167 De b+ 126,000 0.%0 ? 3.2
300,000 I b



CA Rahul Panchal

& TRP Sir

c) Cost OF Equwuty | Codt OF rerarned eorm’nc}:

Dy = Expered Drvrdend:

EPs Y
x Poyowr rorfoc X907
D¢ 2
+ Grow+th + 107,
D, Qe
D
Ke | Kr = —rroo> + 9
Po
2.2 >
s (2= xre0) + 10
4y
= 18y,
o) WACC:
Portreuiors  _caprta)  werght O+ W ACC
EsC ¥ RE 700,000 0.7 5 16,/
nebt 300,060 0.3 6.2 1.86
16,080,030 ! 12:36 ¥.

N
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RBML is proposing to sell a 5-

Question 5. (Illustration 5)
| RBML is proposing to sell a 5-year bond of ¥ 5,000 at 8 per cent rate of interest per annum. The |
- bond amount will be amortised equally over its life. CALCULATE the bond’s present value for an |
|_investor if he expects a minimum rate of return of 6 per cent?

L onN-D - Table 5houofnq Cosh Flows:

| openthg Inferest Totad 1nt Prrncipay  Clo3ing
_Year  Balonce  Chorged @8% Lo Posd pasd Ralance
@ Cb) ) (d) () (c~d-e)
! 5000 Y00 8400 400 1000 Y000
% 4000 390 4390 X0 1000 3000
3 3000 Q40 390 Y6 10660 {000
Y 000 160 UGG 166 [ow's) 1000
S 1600 0 10806 g0 1600 -
.
CASH fLOovy
RBond s Present \arue:
Year _Cosh fioww  PYF@® 6% Py
[ 1460 0:943 1320
2 1330 0290 nrs
3 140 0.240 o4y
Y 1160 0.792 919
) 1080 o.-TY"? 807
663



